* I can measure mass in grams.
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Success Criteria

* I can calculate the intervals on a scale.

* I can read scales to measure in grams.
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Order It - Mass

Work with your group to collect five objects.
Order them from heaviest to lightest.
\

did you use to compare the items?
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Show your items and explain how you worked out the order.
What strategies
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Estimate the Mass

Look at the food items.
Estimate their mass in grams and order them from heaviest to lightest.
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- How close were your estimates to the real mass in grams?
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Weighing in Grams

A gram is a very small unit for measuring mass.
A paperclip and a raisin both weigh about 1 gram.
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We can use a balance scale to
s

==
weigh in grams by adding
e weights until they balance with
A the object you are weighing.
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Weighing in Grams

AN

It is more accurate to use weighing scales to measure in grams.
There are many different sorts of weighing scales:
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The first thing that you need to do
| is to work out what each interval
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Reading Scales

We are going to learn how to use analogue scales.
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of the scale represents.

On this scale, there are 4 intervals
between O and 100g.
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= To work out what each interval is
— worth we divide 100 b

Reading Scales

We are going to learn how to use analogue scales.

k3

H 100 + 4 = 25, so each interval is
y 4.

worth 25g.
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Reading Scales

We are going to learn how to use analogue scales

If you look where the arrow is

pointing, it is 100g plus one
\/ interval, so it is 100g + 25¢g = 1259
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Reading Scales

This is the same scale. What is the arrow pointing to now?

Og 100g

200g

3 x 259 = 75¢

|| The arrow is pointing 3 intervals after zero.
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Reading Scales
On this scale, there are 5 intervals between O and 100g.
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Og 100g 200g 300g
IIIIIIII‘IIII‘II
L
To work out what each interval is T P
worth we divide 100 by 5. If you look where the arrow is 7
1 pointing, it is 200g plus two
100 + 5 = 20, so each interval is intervals, so it is
worth 20g. 200g + 40g = 240g & |
).

I g T / | 5y
\.\_:_\:9‘ ._/ S | vy ) / & £ 1
= 'l ry | i — twinkl.com



L
L~

Reading Scales

This is the same scale. What is the arrow pointing to now?
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The arrow is pointing 1 interval We .coulq al'so >aY:
The arrow is pointing 4 intervals
before 200g.
— 2004 - 204 = 180 after 100g. |
g_~-d J 100g + 80g = 180g D |
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Reading Scales

On this scale, there are 5 intervals between O and 50g
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Og 50g 100g 150g 200g
‘IIII‘IIII‘IIII‘IIII‘
To work out what each interval is T P
worth we divide 50 by 5. If you look where the arrow is 7
1 pointing, it is 50qg plus three
50 + 5 =10, so each interval is intervals, so it is .
worth 10g. 50g + 30g = 80g
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Reading Scales

This is the same scale. What is the arrow pointing to now?
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Reading Scales

This is the same scale. What is the arrow pointing to now?
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Reading Scales

On this scale, there are 5

25g 50g

P r——

intervals between O and 25g.

75g 100g 125 150g

To work out what each interval is
worth we divide 25 by 5.

If you look where the arrow is

25 + 5 = 5, so each interval is
worth 5g.

pointing, it is 50g plus four
intervals, so it is

50g + 20g = 70g
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3 Reading Scales
f This is the same scale. What is the arrow pointing to now?
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25¢g 50g

75¢ 100g

125g 150¢g
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Reading Scales

This is the same scale. What is the arrow pointing to now?

25¢g 50g 759 100g 125g 150g
‘IIII‘IIII‘IIII‘IIII‘IIII‘IIII‘

The arrow is pointing 1 interval

We could also say:

before 150g.

1509 - 5g = 145¢ after 125g.

125g + 20g = 145¢g

The arrow is pointing 4 intervals




! Reading Scales

On this scale, there are 10 intervals between O and 100g.

Og 100g 200g 300g 400g 500g 600g 700g 800g 900g

f\ To work out what each interval is
M\ worth we divide 100 by 10.

If you look where the arrow is

L pointing, it is 200g plus five
— 100 + 10 =10, so each interval is intervals, so it is
worth 10g. 200g + 50g = 250¢g
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Reading Scales

This is the same scale. What is the arrow pointing to now?

Og 100g 200g 300g 400g 500g 600g 700g 800g 900g
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Reading Scales

This is the same scale. What is the arrow pointing to now?

PN
Og 100g 200g 300g 400g 500g 600g 700g 800g 900g | /Y
A
Wy
+—~f~ The arrow is pointing 7 intervals after 800g. -
o 800g + 70g = 870g @ |
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Measure in Grams

Use your mass measuring mastery to complete these activity sheets.
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Reading S Reading S Reading Scales to Measure in Grams
.'/
A \
1 can read scales to measure in grams. \x
—— A For each scale, write a caleult A For each scale, write a caleult A For each scale, write a caleulation to show how you worked out what each nterval is worth and I
Z then say how many grams th then say how many grams th then say how many grams the arrows are pointing to. The first one has done for you.
< Write a sentence to explain h Y Yy \Write a sentence to explain h Y Y9 There are intervals bety Y 4 P N f fory
: : B = Scale 1
] Calculating the intervals: | °*% 1 Caleulating the inervals. | <4 ! 100
og 1009 g 1009 Each interval is worth oy 1009 2009 100g 400g s00g s
Arrows are polnting to: | | | | ¢
: \ \ \ !
9
C ing the intervals: Calculating the intervals: B g Caleulating the intervals:
Arrows are pointing to: Arrows are pointing to: 9
A s g Thereare 2 intervals bety A " g Thereare 2 intervals bety D g Thereare 2 intervals between O and 100,
i 100+ 2 =50 7 100+ 2 =50 00+ 2 -50
e Each interval is worth 50 e Each interval is worth 50 Each interval is werth 50 g
—9 The arrow is pointing to 26( —9 The arrow is pointing to 26( The arrow i pointing ta 250 g,
o g o —]
Scale 2: Scale 2: Scale 2:
Scale 4:
- \ P 0g 100g Og 100g ag 100g 200g 300g
- Use a ruler to draw your owt
. N T A Ll
On the scale mark the follow T T I T T
Arrows are peinting to: A A A B 4 D
A_T5 g
B_150 g Write o sentence to explain b Calculating the intervals: Thereare ___ intervals between O and 200,
_ i00 + =
C2254g Caleulating the intervals; There are intervals bety A
D375 g 100 = _ Each interval is warth ____ g,

Arrows are pointing to:
A9
R
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Each interval is worth
Arrows are pointing to:
A9
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Draw Your Own

Using a pencil and ruler, draw your own scales and mark the mass shown.
i Label multiples of 100g on your scale.

e
7 A scale showing O - 500g, in intervals of 50g. Mark 250g.

. A\, ]

— A scale showing O - 500g, in intervals of 25g. Mark 375g.
= X

- A scale showing O - 400g, in intervals of 20g. Mark 140g.
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* I can measure mass in grams.
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Success Criteria

I can calculate the intervals on a scale.
=

* I can read scales to measure in grams.
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